



















































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































In[ ]:= Clear[n, V, T, p, Ti, R]

Z = Solvep ⩵
n R2 T Ti

R Ti V - 2 n a
-
n2 a

V
, a // FullSimplify

n = 1;

V = 1;

T = 100;

p = 831;

Ti = 1798;

R = 8.31446261815324;

Z

Out[ ]= a →
n (-2 p + n R Ti) V - n2 V -8 n2 R2 T Ti + (2 p + n R Ti)2 V

4 n3
,

a →
n (-2 p + n R Ti) V + n2 V -8 n2 R2 T Ti + (2 p + n R Ti)2 V

4 n3


Out[ ]= {{a → 0.502119}, {a → 6643.2}}

In[ ]:= a = 0.5021185797509133;

b =
2 a

R Ti

Out[ ]= 0.0000671757

In[ ]:= p +
a n2

V22
(V2 - n b) - p +

a n2

V12
(V1 - n b) // Expand

Out[ ]=

a b n3

V12
-
a n2

V1
- p V1 -

a b n3

V22
+
a n2

V2
+ p V2

In[ ]:= D p +
a n2

V2
(V - n b), V // Simplify

Out[ ]= p +
a n2 (2 b n - V)

V3

Solvep +
a n2 (2 b n - V)

V3
⩵ 0,

Out[ ]= p → -2 a b n3 + a n2 V

V3

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